
� No.153-20-1 �

No.153-20-1 （　　　%） （ 分 秒）

次の計算をしなさい。余りがあればそれも求めなさい。（１問 5点）

(1) 3497÷ 13 = (2) 9837÷ 67 = (3) 6135÷ 18 = (4) 6752÷ 36 =

(5) 4309÷ 14 = (6) 4200÷ 59 = (7) 4548÷ 28 = (8) 1600÷ 47 =

(9) 2930÷ 44 = (10) 5819÷ 59 = (11) 7524÷ 55 = (12) 7320÷ 16 =

(13) 4765÷ 37 = (14) 6873÷ 47 = (15) 1749÷ 26 = (16) 4584÷ 18 =

(17) 8133÷ 27 = (18) 4085÷ 70 = (19) 1283÷ 44 = (20) 1777÷ 27 =

� 13th-note �



� No.153-20-1 �

No.153-20-1 （　　　%） （ 分 秒）

次の計算をしなさい。余りがあればそれも求めなさい。（１問 5点）

(1) 3497÷ 13 =

269
(2) 9837÷ 67 =

146 · · · 55
(3) 6135÷ 18 =

340 · · · 15
(4) 6752÷ 36 =

187 · · · 20

(5) 4309÷ 14 =

307 · · · 11
(6) 4200÷ 59 =

71 · · · 11
(7) 4548÷ 28 =

162 · · · 12
(8) 1600÷ 47 =

34 · · · 2

(9) 2930÷ 44 =

66 · · · 26
(10) 5819÷ 59 =

98 · · · 37
(11) 7524÷ 55 =

136 · · · 44
(12) 7320÷ 16 =

457 · · · 8

(13) 4765÷ 37 =

128 · · · 29
(14) 6873÷ 47 =

146 · · · 11
(15) 1749÷ 26 =

67 · · · 7
(16) 4584÷ 18 =

254 · · · 12

(17) 8133÷ 27 =

301 · · · 6
(18) 4085÷ 70 =

58 · · · 25
(19) 1283÷ 44 =

29 · · · 7
(20) 1777÷ 27 =

65 · · · 22

� 13th-note �



� No.153-20-2 �

No.153-20-2 （　　　%） （ 分 秒）

次の計算をしなさい。余りがあればそれも求めなさい。（１問 5点）

(1) 2936÷ 41 = (2) 2326÷ 27 = (3) 1480÷ 59 = (4) 1501÷ 17 =

(5) 6341÷ 65 = (6) 8874÷ 78 = (7) 5839÷ 21 = (8) 4973÷ 59 =

(9) 4025÷ 16 = (10) 5802÷ 55 = (11) 6801÷ 97 = (12) 3371÷ 13 =

(13) 8661÷ 50 = (14) 6547÷ 59 = (15) 1670÷ 41 = (16) 7555÷ 75 =

(17) 6370÷ 67 = (18) 3020÷ 21 = (19) 7856÷ 15 = (20) 4150÷ 91 =

� 13th-note �



� No.153-20-2 �

No.153-20-2 （　　　%） （ 分 秒）

次の計算をしなさい。余りがあればそれも求めなさい。（１問 5点）

(1) 2936÷ 41 =

71 · · · 25
(2) 2326÷ 27 =

86 · · · 4
(3) 1480÷ 59 =

25 · · · 5
(4) 1501÷ 17 =

88 · · · 5

(5) 6341÷ 65 =

97 · · · 36
(6) 8874÷ 78 =

113 · · · 60
(7) 5839÷ 21 =

278 · · · 1
(8) 4973÷ 59 =

84 · · · 17

(9) 4025÷ 16 =

251 · · · 9
(10) 5802÷ 55 =

105 · · · 27
(11) 6801÷ 97 =

70 · · · 11
(12) 3371÷ 13 =

259 · · · 4

(13) 8661÷ 50 =

173 · · · 11
(14) 6547÷ 59 =

110 · · · 57
(15) 1670÷ 41 =

40 · · · 30
(16) 7555÷ 75 =

100 · · · 55

(17) 6370÷ 67 =

95 · · · 5
(18) 3020÷ 21 =

143 · · · 17
(19) 7856÷ 15 =

523 · · · 11
(20) 4150÷ 91 =

45 · · · 55

� 13th-note �



� No.153-20-3 �

No.153-20-3 （　　　%） （ 分 秒）

次の計算をしなさい。余りがあればそれも求めなさい。（１問 5点）

(1) 5460÷ 37 = (2) 3749÷ 41 = (3) 7975÷ 86 = (4) 4487÷ 14 =

(5) 7106÷ 72 = (6) 8609÷ 34 = (7) 6852÷ 23 = (8) 3246÷ 56 =

(9) 6449÷ 45 = (10) 3200÷ 40 = (11) 5098÷ 13 = (12) 8837÷ 11 =

(13) 9592÷ 27 = (14) 6675÷ 43 = (15) 8605÷ 22 = (16) 9950÷ 54 =

(17) 3014÷ 27 = (18) 2840÷ 33 = (19) 3362÷ 89 = (20) 6779÷ 67 =

� 13th-note �



� No.153-20-3 �

No.153-20-3 （　　　%） （ 分 秒）

次の計算をしなさい。余りがあればそれも求めなさい。（１問 5点）

(1) 5460÷ 37 =

147 · · · 21
(2) 3749÷ 41 =

91 · · · 18
(3) 7975÷ 86 =

92 · · · 63
(4) 4487÷ 14 =

320 · · · 7

(5) 7106÷ 72 =

98 · · · 50
(6) 8609÷ 34 =

253 · · · 7
(7) 6852÷ 23 =

297 · · · 21
(8) 3246÷ 56 =

57 · · · 54

(9) 6449÷ 45 =

143 · · · 14
(10) 3200÷ 40 =

80
(11) 5098÷ 13 =

392 · · · 2
(12) 8837÷ 11 =

803 · · · 4

(13) 9592÷ 27 =

355 · · · 7
(14) 6675÷ 43 =

155 · · · 10
(15) 8605÷ 22 =

391 · · · 3
(16) 9950÷ 54 =

184 · · · 14

(17) 3014÷ 27 =

111 · · · 17
(18) 2840÷ 33 =

86 · · · 2
(19) 3362÷ 89 =

37 · · · 69
(20) 6779÷ 67 =

101 · · · 12

� 13th-note �



� No.153-20-4 �

No.153-20-4 （　　　%） （ 分 秒）

次の計算をしなさい。余りがあればそれも求めなさい。（１問 5点）

(1) 8110÷ 81 = (2) 1264÷ 90 = (3) 6926÷ 19 = (4) 8033÷ 39 =

(5) 3913÷ 39 = (6) 3405÷ 12 = (7) 3545÷ 21 = (8) 8525÷ 56 =

(9) 5374÷ 12 = (10) 9492÷ 21 = (11) 9024÷ 18 = (12) 3154÷ 53 =

(13) 6331÷ 16 = (14) 2920÷ 57 = (15) 7606÷ 26 = (16) 3424÷ 49 =

(17) 1602÷ 37 = (18) 1878÷ 91 = (19) 4596÷ 32 = (20) 3198÷ 66 =

� 13th-note �



� No.153-20-4 �

No.153-20-4 （　　　%） （ 分 秒）

次の計算をしなさい。余りがあればそれも求めなさい。（１問 5点）

(1) 8110÷ 81 =

100 · · · 10
(2) 1264÷ 90 =

14 · · · 4
(3) 6926÷ 19 =

364 · · · 10
(4) 8033÷ 39 =

205 · · · 38

(5) 3913÷ 39 =

100 · · · 13
(6) 3405÷ 12 =

283 · · · 9
(7) 3545÷ 21 =

168 · · · 17
(8) 8525÷ 56 =

152 · · · 13

(9) 5374÷ 12 =

447 · · · 10
(10) 9492÷ 21 =

452
(11) 9024÷ 18 =

501 · · · 6
(12) 3154÷ 53 =

59 · · · 27

(13) 6331÷ 16 =

395 · · · 11
(14) 2920÷ 57 =

51 · · · 13
(15) 7606÷ 26 =

292 · · · 14
(16) 3424÷ 49 =

69 · · · 43

(17) 1602÷ 37 =

43 · · · 11
(18) 1878÷ 91 =

20 · · · 58
(19) 4596÷ 32 =

143 · · · 20
(20) 3198÷ 66 =

48 · · · 30

� 13th-note �



� No.153-20-5 �

No.153-20-5 （　　　%） （ 分 秒）

次の計算をしなさい。余りがあればそれも求めなさい。（１問 5点）

(1) 7286÷ 68 = (2) 2615÷ 91 = (3) 1583÷ 58 = (4) 8294÷ 50 =

(5) 9559÷ 54 = (6) 5702÷ 27 = (7) 3118÷ 90 = (8) 1897÷ 18 =

(9) 5364÷ 44 = (10) 7673÷ 76 = (11) 9560÷ 20 = (12) 7146÷ 15 =

(13) 6940÷ 36 = (14) 3272÷ 24 = (15) 9145÷ 48 = (16) 3713÷ 62 =

(17) 7778÷ 54 = (18) 6281÷ 12 = (19) 5655÷ 48 = (20) 7915÷ 34 =

� 13th-note �



� No.153-20-5 �

No.153-20-5 （　　　%） （ 分 秒）

次の計算をしなさい。余りがあればそれも求めなさい。（１問 5点）

(1) 7286÷ 68 =

107 · · · 10
(2) 2615÷ 91 =

28 · · · 67
(3) 1583÷ 58 =

27 · · · 17
(4) 8294÷ 50 =

165 · · · 44

(5) 9559÷ 54 =

177 · · · 1
(6) 5702÷ 27 =

211 · · · 5
(7) 3118÷ 90 =

34 · · · 58
(8) 1897÷ 18 =

105 · · · 7

(9) 5364÷ 44 =

121 · · · 40
(10) 7673÷ 76 =

100 · · · 73
(11) 9560÷ 20 =

478
(12) 7146÷ 15 =

476 · · · 6

(13) 6940÷ 36 =

192 · · · 28
(14) 3272÷ 24 =

136 · · · 8
(15) 9145÷ 48 =

190 · · · 25
(16) 3713÷ 62 =

59 · · · 55

(17) 7778÷ 54 =

144 · · · 2
(18) 6281÷ 12 =

523 · · · 5
(19) 5655÷ 48 =

117 · · · 39
(20) 7915÷ 34 =

232 · · · 27

� 13th-note �



� No.153-20-6 �

No.153-20-6 （　　　%） （ 分 秒）

次の計算をしなさい。余りがあればそれも求めなさい。（１問 5点）

(1) 3313÷ 50 = (2) 5516÷ 81 = (3) 1874÷ 47 = (4) 3881÷ 28 =

(5) 9082÷ 35 = (6) 9189÷ 56 = (7) 8119÷ 15 = (8) 3113÷ 18 =

(9) 7341÷ 26 = (10) 3338÷ 30 = (11) 7161÷ 23 = (12) 5042÷ 24 =

(13) 1928÷ 60 = (14) 1728÷ 20 = (15) 9492÷ 26 = (16) 4930÷ 13 =

(17) 6073÷ 53 = (18) 5654÷ 16 = (19) 8593÷ 45 = (20) 7478÷ 33 =

� 13th-note �



� No.153-20-6 �

No.153-20-6 （　　　%） （ 分 秒）

次の計算をしなさい。余りがあればそれも求めなさい。（１問 5点）

(1) 3313÷ 50 =

66 · · · 13
(2) 5516÷ 81 =

68 · · · 8
(3) 1874÷ 47 =

39 · · · 41
(4) 3881÷ 28 =

138 · · · 17

(5) 9082÷ 35 =

259 · · · 17
(6) 9189÷ 56 =

164 · · · 5
(7) 8119÷ 15 =

541 · · · 4
(8) 3113÷ 18 =

172 · · · 17

(9) 7341÷ 26 =

282 · · · 9
(10) 3338÷ 30 =

111 · · · 8
(11) 7161÷ 23 =

311 · · · 8
(12) 5042÷ 24 =

210 · · · 2

(13) 1928÷ 60 =

32 · · · 8
(14) 1728÷ 20 =

86 · · · 8
(15) 9492÷ 26 =

365 · · · 2
(16) 4930÷ 13 =

379 · · · 3

(17) 6073÷ 53 =

114 · · · 31
(18) 5654÷ 16 =

353 · · · 6
(19) 8593÷ 45 =

190 · · · 43
(20) 7478÷ 33 =

226 · · · 20

� 13th-note �



� No.153-20-7 �

No.153-20-7 （　　　%） （ 分 秒）

次の計算をしなさい。余りがあればそれも求めなさい。（１問 5点）

(1) 8457÷ 18 = (2) 3893÷ 13 = (3) 7290÷ 44 = (4) 6479÷ 58 =

(5) 6272÷ 23 = (6) 4858÷ 66 = (7) 7269÷ 91 = (8) 6321÷ 49 =

(9) 3790÷ 23 = (10) 3332÷ 14 = (11) 1145÷ 75 = (12) 3515÷ 51 =

(13) 7701÷ 81 = (14) 5580÷ 81 = (15) 6036÷ 65 = (16) 9087÷ 28 =

(17) 6177÷ 83 = (18) 4886÷ 79 = (19) 8855÷ 19 = (20) 6824÷ 19 =

� 13th-note �



� No.153-20-7 �

No.153-20-7 （　　　%） （ 分 秒）

次の計算をしなさい。余りがあればそれも求めなさい。（１問 5点）

(1) 8457÷ 18 =

469 · · · 15
(2) 3893÷ 13 =

299 · · · 6
(3) 7290÷ 44 =

165 · · · 30
(4) 6479÷ 58 =

111 · · · 41

(5) 6272÷ 23 =

272 · · · 16
(6) 4858÷ 66 =

73 · · · 40
(7) 7269÷ 91 =

79 · · · 80
(8) 6321÷ 49 =

129

(9) 3790÷ 23 =

164 · · · 18
(10) 3332÷ 14 =

238
(11) 1145÷ 75 =

15 · · · 20
(12) 3515÷ 51 =

68 · · · 47

(13) 7701÷ 81 =

95 · · · 6
(14) 5580÷ 81 =

68 · · · 72
(15) 6036÷ 65 =

92 · · · 56
(16) 9087÷ 28 =

324 · · · 15

(17) 6177÷ 83 =

74 · · · 35
(18) 4886÷ 79 =

61 · · · 67
(19) 8855÷ 19 =

466 · · · 1
(20) 6824÷ 19 =

359 · · · 3

� 13th-note �



� No.153-20-8 �

No.153-20-8 （　　　%） （ 分 秒）

次の計算をしなさい。余りがあればそれも求めなさい。（１問 5点）

(1) 6047÷ 44 = (2) 3104÷ 99 = (3) 2545÷ 33 = (4) 8293÷ 80 =

(5) 9719÷ 34 = (6) 9069÷ 48 = (7) 5850÷ 29 = (8) 6817÷ 78 =

(9) 7383÷ 55 = (10) 1918÷ 40 = (11) 6689÷ 27 = (12) 9495÷ 57 =

(13) 3086÷ 67 = (14) 7583÷ 82 = (15) 9752÷ 25 = (16) 2401÷ 30 =

(17) 8332÷ 72 = (18) 7428÷ 57 = (19) 3160÷ 33 = (20) 9129÷ 61 =

� 13th-note �



� No.153-20-8 �

No.153-20-8 （　　　%） （ 分 秒）

次の計算をしなさい。余りがあればそれも求めなさい。（１問 5点）

(1) 6047÷ 44 =

137 · · · 19
(2) 3104÷ 99 =

31 · · · 35
(3) 2545÷ 33 =

77 · · · 4
(4) 8293÷ 80 =

103 · · · 53

(5) 9719÷ 34 =

285 · · · 29
(6) 9069÷ 48 =

188 · · · 45
(7) 5850÷ 29 =

201 · · · 21
(8) 6817÷ 78 =

87 · · · 31

(9) 7383÷ 55 =

134 · · · 13
(10) 1918÷ 40 =

47 · · · 38
(11) 6689÷ 27 =

247 · · · 20
(12) 9495÷ 57 =

166 · · · 33

(13) 3086÷ 67 =

46 · · · 4
(14) 7583÷ 82 =

92 · · · 39
(15) 9752÷ 25 =

390 · · · 2
(16) 2401÷ 30 =

80 · · · 1

(17) 8332÷ 72 =

115 · · · 52
(18) 7428÷ 57 =

130 · · · 18
(19) 3160÷ 33 =

95 · · · 25
(20) 9129÷ 61 =

149 · · · 40

� 13th-note �



� No.153-20-9 �

No.153-20-9 （　　　%） （ 分 秒）

次の計算をしなさい。余りがあればそれも求めなさい。（１問 5点）

(1) 6139÷ 60 = (2) 3300÷ 41 = (3) 9620÷ 60 = (4) 6759÷ 29 =

(5) 7163÷ 19 = (6) 9181÷ 31 = (7) 4391÷ 85 = (8) 4161÷ 29 =

(9) 7995÷ 12 = (10) 8117÷ 72 = (11) 8192÷ 62 = (12) 7925÷ 18 =

(13) 8997÷ 43 = (14) 5631÷ 47 = (15) 4378÷ 68 = (16) 9348÷ 14 =

(17) 4585÷ 74 = (18) 9983÷ 19 = (19) 7268÷ 22 = (20) 7291÷ 31 =

� 13th-note �



� No.153-20-9 �

No.153-20-9 （　　　%） （ 分 秒）

次の計算をしなさい。余りがあればそれも求めなさい。（１問 5点）

(1) 6139÷ 60 =

102 · · · 19
(2) 3300÷ 41 =

80 · · · 20
(3) 9620÷ 60 =

160 · · · 20
(4) 6759÷ 29 =

233 · · · 2

(5) 7163÷ 19 =

377
(6) 9181÷ 31 =

296 · · · 5
(7) 4391÷ 85 =

51 · · · 56
(8) 4161÷ 29 =

143 · · · 14

(9) 7995÷ 12 =

666 · · · 3
(10) 8117÷ 72 =

112 · · · 53
(11) 8192÷ 62 =

132 · · · 8
(12) 7925÷ 18 =

440 · · · 5

(13) 8997÷ 43 =

209 · · · 10
(14) 5631÷ 47 =

119 · · · 38
(15) 4378÷ 68 =

64 · · · 26
(16) 9348÷ 14 =

667 · · · 10

(17) 4585÷ 74 =

61 · · · 71
(18) 9983÷ 19 =

525 · · · 8
(19) 7268÷ 22 =

330 · · · 8
(20) 7291÷ 31 =

235 · · · 6

� 13th-note �



� No.153-20-10 �

No.153-20-10 （　　　%） （ 分 秒）

次の計算をしなさい。余りがあればそれも求めなさい。（１問 5点）

(1) 3433÷ 32 = (2) 1294÷ 80 = (3) 4769÷ 75 = (4) 5974÷ 69 =

(5) 9964÷ 23 = (6) 4754÷ 28 = (7) 5500÷ 48 = (8) 8395÷ 42 =

(9) 3726÷ 55 = (10) 6686÷ 54 = (11) 3910÷ 24 = (12) 4010÷ 72 =

(13) 7011÷ 29 = (14) 8453÷ 20 = (15) 9015÷ 42 = (16) 6663÷ 47 =

(17) 4527÷ 18 = (18) 1826÷ 40 = (19) 1260÷ 32 = (20) 4207÷ 45 =

� 13th-note �



� No.153-20-10 �

No.153-20-10 （　　　%） （ 分 秒）

次の計算をしなさい。余りがあればそれも求めなさい。（１問 5点）

(1) 3433÷ 32 =

107 · · · 9
(2) 1294÷ 80 =

16 · · · 14
(3) 4769÷ 75 =

63 · · · 44
(4) 5974÷ 69 =

86 · · · 40

(5) 9964÷ 23 =

433 · · · 5
(6) 4754÷ 28 =

169 · · · 22
(7) 5500÷ 48 =

114 · · · 28
(8) 8395÷ 42 =

199 · · · 37

(9) 3726÷ 55 =

67 · · · 41
(10) 6686÷ 54 =

123 · · · 44
(11) 3910÷ 24 =

162 · · · 22
(12) 4010÷ 72 =

55 · · · 50

(13) 7011÷ 29 =

241 · · · 22
(14) 8453÷ 20 =

422 · · · 13
(15) 9015÷ 42 =

214 · · · 27
(16) 6663÷ 47 =

141 · · · 36

(17) 4527÷ 18 =

251 · · · 9
(18) 1826÷ 40 =

45 · · · 26
(19) 1260÷ 32 =

39 · · · 12
(20) 4207÷ 45 =

93 · · · 22

� 13th-note �


